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Ques 1. ANS (B) Solution:
YRJ-FieiehT & WY §e Ui Hicial &b gled drol
g o AT Bt 718 | U RR SR wifayuf e
HRTHTR & P §1a1 47 & Iexg 4 Sford a8
FTiHH, & T gt & forg JRem iR faw T IR &
YRd & DIV & WY G aRe ¥ T J1al 5|
India-Sri Lanka Defense Symposium cum Exhibition
was held at Hotel Taj Samudra in Colombo. The event,
held with the objective of fostering a stable and
peaceful Indian Ocean region, aligned perfectly with
India's vision of Security and Growth for All in the
Region or SAGAR.
Ques 2. ANS (D) Solution:
The Bharathapuzha river is the second longest West
Flowing River that drains into the Arabian Sea in Kerala
State. This basin is bounded in the East by the Cauvery
basin, in the West by the Arabian Sea. Its drainage area
is 6,186 sq.km spread over the two states namely Tamil
Nadu and Kerala. The Bharathapuzha or Ponnani river
as it is called in the lower reaches, rises in the Eastern
slopes of Anamalai hills of the Western Ghats at an
elevation of 2,250 m above MSL and flows in the
North-Westerly direction in Pollachi taluk of
Coimbatore district in Tamil Nadu State.
Ques 3. ANS (C) Solution:
TS, TR 3R IgHSHY SfRURAT I ST U
1 $a1 SHeaR dTed g, S i I arg yrisft
SRI A ST ¢ 57 a1 § §1 |1 afe % & SR
@ Y A S Te@l B aSTurd HeT o FHhell 3|

3P, TB1 H, a1 S The Wid drsl &
T §9 9 8| T FIed ol ofk gdex oY 3=
WaRAT TR T Ue 37 B e § | SRy
3o Rid R Hoied Sredl § 3 §gdl 8 3R
IRAG & RR & U H 31 {3y & Fhar 1
T &1 Wiea U e g
Cumulonimbus, is a dense towering vertical cloud
associated with thunderstorms and atmospheric
instability, forming from water vapor carried by
powerful upward air currents. If observed during a
storm, these clouds may be referred to as
thunderheads. Cumulonimbus can form alone, in
clusters, or along cold front squall lines. These clouds
are capable of producing lightning and other
dangerous severe weather, such as tornadoes.
Cumulonimbus progress from overdeveloped cumulus
congestus clouds and may further develop as part of a
supercell. Cumulonimbus is abbreviated Cb.
Ques 4. ANS (B) Solution:
URA BT G20 HLEAT & g8 & T H, GO G20-JB
P GATEBRI B! TehSl 93 MR & T g3
o e ¥ IR, g & axifie I de ugd Pl
IR &1 & forw Iy gardt &1 wwaa, fag ud
Wenfiiet § fafaerdr, gamar ok uga qur gamash fagms
Td Wit Afifq & forg TRumTd o fawdl R $t aR =

BT 93P & IR 27 3R BT HRT 3R FHal 3R,
Sfreforar ok fore & o9 < fguefa dad 1 g5 1 S9&
a1 TfafRfiar 3 A § g wfer 3iR Ao & U

GOTYRT T7d T TR ol T BT SR o |

As part of India's G20 presidency, the second G20-
Chief Scientific Advisers' Roundtable meet began in
Gandhinagar. There will be a total of four sessions on
themes 'Opportunities in One Health, Synergizing
Global Efforts to expand the Access to Scholarly
Scientific Knowledge', Diversity, Equity, and
Accessibility in S&T and Institutional Mechanism for
Inclusive S&T Policy. On the sidelines of the meeting,
three bilateral meetings between India and Saudi
Arabia, Australia and UK were also held on 27th
August. The delegates then visited the Sun temple in
Modhera and the Solar power plant in Sujanpura
village near Modhera.

Ques 5. ANS (A) Solution:

HoIgd 3fepel SR B IT6IR YR ¥ STfed, AP
U JuTTelt (TAUTE) Ueie= & dgd QUi (TUH) '3
U= oM (TUIaTS) TR HI4Y Jfgd' 25 3Tk 1 10 A
FRIE & HId & IR d& Ugd Ts | Ig 25 Ufa=id &1
AT e § s faxiig ad & ord & sfd a%
U WK '8 T BRI ¥ Y BT AT &2 3§ Ufa=d

CIEe

§ SU U1 A1 o 3id § TNy Tgud '8.98 ARG HRIS
>0 T

§ TTUITH & SR |

§ ST U YUITel! (THUTE) YR & ARIRSD! D
JSTaRIT YR& UGH B & oIl URd NBR gRI = Bl
T2 U U g oW aer |1 a8 WRiva ok fafafia
ISR ST e & ATead J 31Ut Jar-gia Bt
THTE &1 8 ISHT S & T U sfipvep didepiiers
I BT AR AT ¢ | T i1 UM s Fame iR
faerg T (fuwemSiy) grI fafafid 3|
JIUh 3R ST gRT WG A=¥Hd U RReH g
(@TUTEd) T & dgd aHt Fufrl &1 Uefigpd
I gl

Buoyed by strong equity and debt market
performance, National Pension System (NPS) assets
under management (AUM) 'including the corpus on
Atal Pension Yojana (APY) 'hit a milestone of ' 10 lakh
crore on August 25. This represents a 25 per cent year-
on-year growth over the AUM level of ' 8 lakh crore as
of the end of August last fiscal.

§ In the end of March this year, NPS AUM stood at '
8.98 lakh crore

§ About NPS!'

§ National Pension System (NPS) is a pension cum
investment scheme launched by Government of India
to provide old age security to Citizens of India. It brings
an attractive long term saving avenue to effectively
plan your retirement through safe and regulated
market-based return. The Scheme is regulated by




Pension Fund Regulatory and Development Authority
(PFRDA).National Pension System Trust (NPST)
established by PFRDA is the registered owner of all
assets under NPS.

Ques 6. ANS (B) Solution:

TS U R UR Hed & qad 98 Saramfd! &1 IR g,
R Siiciu™ |~ & =19 ¥ ST S ¢ | 8 fa2d oTd
ST 13.6 Hid (22 faraidiey) $ar g SR 3uaH! ™
TH 370 HId (600 fhalHiey) B

Mars is home to the largest volcano in our solar
system, known as Olympus Mons. This massive shield
volcano stands 13.6 miles (22 kilometers) high and has
a diameter of approximately 370 miles (600
kilometers).

Ques 7. ANS (A) Solution:

The International Labour Organization (ILO) launched
the first World Day Against Child Labour in 2002 as a
way to highlight the plight of children engaged in child
labour. Observed on June 12th, the day is intended to
serve as a catalyst for the growing worldwide
movement agalnst child labour.

T TS (ILO) 3 §Td o1 T T F=di b gazm
1 ISR B b feTT 2002 H §Tet 4 & R&eA1h uger
fay foaw 3= foan| 12 S0 &1 791 9 a1d 39 feq &
I 91 9H & AT dgd fayaamdt sfigia & forg
SARP & ¥ H HH A 5|
Ques 8. ANS (A) Solution:
The plan was based on the Harrod-Domar model
which suggested that growth depends on two things-
A high level of savings and a low capital-output ratio.
The First Five-year plan focused primarily on the
development of agriculture and irrigation. The plan
had the target of 2.1% GDP growth but it resulted in a
3.6% growth rate. It was drafted by economist K.N Raj.

g o gUIS-SR Aigd WR snutid ot fored gema

& T o7 o fapr & <l iR PR & §- S=d &
I TR AR FHH Yoil-3Te 3T | Igelt Taaa
TIoHT T T J $Y 3R R & ey w Ffga ot
T AT T 2.1% SiteIUt gig o1 d&d T dfee s9d
IRUMERAGET 3.6% 1 gfg & U g5 | S9HT FuIal
SRR .U IS A AR o |

Ques 9. ANS (C) Solution:

s 1675 T, Td YHIC ST & 3T &b dgd T& i
BTG ! faee! H Wil ¢ §f 7151 7% 7 §8TgR A SakA
g gRad 3R 1fifes AT o1 & A ae1s ot |

In the year 1675, Guru Tegh Bahadur was executed in
Delhi under the orders of the Mughal Emperor
Aurangzeb. Guru Tegh Bahadur fought against forced
conversion and religious impositions.

Ques 10. ANS (D) Solution:

YR 7 3R o 1 1 7 14 TSR, 2023 BT 304
fa=Iv 9l o o9 ugen S AN, 31T Iehard-|
& fBar g1 14 oy Igad onam ISRIM & SR
EECRG

Indian Army and Egyptian Army have commenced
Exercise Cyclone-|, the first-ever joint exercise between

their special forces on January 14, 2023. The 14-day-
long joint exercise is in progress at Jaisalmer in
Rajasthan.

Ques 11. ANS (B) Solution:

HTST ¥ IYR ot TS Jfaemd &;

RIS -5 dIel 99 B ArerT |

&% SR It & o9 fgaal &1 faaror siRk Frgfaa
3fafry Al b & Uy

Features borrowed from Canada are:

Scheme of federation with a strong centre.
Distribution of powers between centre and the states
and placing. Residuary Powers with the centre

Ques 12. ANS (B) Solution:

The International Boxing Federation (IBF) is one of four
major organizations recognized by the International
Boxing Hall of Fame (IBHOF) which sanctions
professional boxing bouts, alongside the World Boxing
Association (WBA), World Boxing Council (WBC) and
World Boxing Organization (WBO).

IBF is headquartered in Springfield, New Jersey, USA.
AR SITeRIT 8RR (MR ATTW) AR ST
BId 1 BH (STSTASNTD) GRT A U IR TS
G U &, Sff IS SToRiT GIIee (Ssetu),
Ies SR HISRIT (Seegafl) 3R 968 aRiT
S{TATSOIRM & WY URIGR GadbaTol gabTadl Bl HoRt
3 31 Ssegated) |

STESIT $T gEATad BiTwics, = o, Juat # &
Ques 13. ANS (A) Solution:

Gandhi's championing of Swadeshi and non-
cooperation were centred on the principles of
economic self-sufficiency. In order to achieve this
means he advocated trusteeship, decentralization of
economic activities, labour-intensive technology and
priority to weaker sections.

ST B WM 3R ST B gbIAd NP
STAMHRAT & Rigidl TR dfed 01 53 e Y U
HA & 1T I5A IR, enfdfes wifafafat &
fahelepRul, $H-TT8 WeNfe! SR HHWR Tl Bl
UIYfeh T Bl aehlerd i |

Ques 14. ANS (C) Solution:

Taxes in India are levied by the Central Government
and the state governments. Some minor taxes are also
levied by the local authorities such as the Municipality.
The authority to levy a tax is derived from the
Constitution of India which allocates the power to levy
various taxes between the Central and the State. An
important restriction on this power is Article 265 of the
Constitution which states that "No tax shall be levied or
collected except by the authority of law". Therefore,
each tax levied or collected has to be backed by an
accompanying law, passed either by the Parliament or
the State Legislature.

Centre:

Income tax

Corporate tax

Customs duty

Estate duty




Stamp duty on financial documents

State:

Land revenue

Tax on agriculture income

Tax on land and buildings

Tax on vehicles
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Ques 15. ANS (C) Solution:

African savannah grasslands are home to various iconic
wildlife, such as African elephants, lions, zebras, and
giraffes. The African savanna ecosystem is a tropical
grassland with warm temperatures year round and
seasonal rainfall. The savanna is characterized by
grasses and small or dispersed trees, along with a
diverse community of organisms that interact to form a
complex food web.

SMpIp! AT 1Y P HaM e ufaf¥d a=asiial a1 &R
&, O Srpiat g1, TR, AT SIR ORIE | Siibie! FamT
uRfRUfe! 77 U Iuibicsdia e &1 #aM ¢ el
Te HR T dT9HH SR e auf gl 8 1 gar Bt
fIRIwaT a3k IS a1 Bl U U §, W1y & Sl &1 U
fafdy Tem § S ue Sfed @ oid a1 & oy )R
foran A B

Ques 16. ANS (C) Solution:

Under perfect competition, the demand curve for the
firm is horizontal and perfectly elastic. It means that
the firm can sell any amount of the product at the price
determined by the industry, but the firm cannot vary
the price.

gul gfegyf & sidld, B & fore 7 o &fiet $ik
QUi TAGR Bl 8 | ST Hererd § b B ST gRT
FuiRd HAd W fee 1 7E § Idg o9 F&dt g,
<ifd HUH BT H e T8 P Fbal 5|

Ques 17. ANS (A) Solution:

List of intelligence agencies:

Inter-Service Intelligence, (ISI) Pakistan

Central Intelligence Agency, (CIA) United States

Secret Intelligence Service, (M16) United Kingdom
Federal Security Services, (FSB) Russia
Bundesnachrichtendienst, (BND) Germany

Research and Analysis Wing (RAW), India

Direction Generale De La Securite Exterieure (DGSE),
France

Australian Secret Intelligence Service (ASIS), Australia
Ministry of State Security (MSS), China

The Institute For Intelligence and Special Operation
(MOSAD), Israel

paT TeRE ) g
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Ques 18. ANS (D) Solution:

The Government of India has decided to organise a
literacy week from 1st September to 8th September
2023 to celebrate International Literacy Day for
generating awareness among all the stakeholders/
beneficiaries/ citizens about the ULLAS- Nav Bharat
Saaksharta Karyakram. This vision would popularise the
scheme and help attain the goal of making India fully
literate.

§ 'The week-long literacy campaign shall enable mass
participation to inculcate a sense
of'Kartavyabodh'and'Janbhagidari'in each and every
citizen of the nation.

§ A Centrally Sponsored Scheme ULLAS- Nav Bharat
Saaksharta Karyakram on Education for All (erstwhile
termed as Adult Education), was approved by
Government of India for implementation during FYs
2022-27 in alignment with National Education Policy
(NEP) 2020. The Scheme has five components, namely
(i) Foundational Literacy and Numeracy, (ii) Critical Life
Skills, (iii) Basic Education, (iv) Vocational Skills, (v)
Continuing Education.

HRA PR A Ieer-Td HRd YI&RdT HIIHH P R |
i fedure!/ariial/Arie! & dia el tal
B & foTT SfRISIY weRd faad 7 & farg 1 RydeR
¥ 8 RYdeR 2023 T &R HKITG SIS B BT
fyofa foran 81 U8 eS0T AISHT B ABIUT ST 3R
YRA &I YUl WI&R T & T&I I U = § HGg
A

§ HIE HR TIe aTell &R ST AP & Tdh
ARG § FHacaay’ 3R FTHRNGRT B HTaAT Ual B
¥ foru 98 TUM R YrfieR &) ey B3|

§ it o foTT fR1a R Tep b YTAISTd Aol Ird- 1d
HRA IR SRIHH (O Ugel au¥e fRI&f g1 SiraT o),




&1 Py e A @78 2020 & SrgFy fored af 2022-
27 % SR PTG & AT HRA PR gRT A
foran Tman w11 Ut g, Srufd () Hayd TTeRdr 3R
eI, (i) FEeyul Sitae SIRra, (i) givard e,
(iv) SATTHTRIS I, (v) Ferd FRI&f|
Ques 19. ANS (B) Solution:
The Da Vinci Code is a 2003 mystery thriller novel by
Dan Brown.
It is Brown's second novel to include the character
Robert Langdon: the first was his novel Angels &
Demons (2000).
%frﬁ%ﬁm?ﬂamm 2003 &1 U 361 IR Su=amd
I
g AeIC TS & ARF D M B aTal SIS Pl
TIRT UM g: Ugdl ST IUA Ui TS S
(2000) HT|
Ques 20. ANS (D) Solution:
While the theme of the Hojagiri dance remains almost
to be the same as of other tribes, this dance form of
the Reang community of Tripura is quite different from
others. The movement of hands or even the upper part
of the body is somewhat restricted, whereas the
movement beginning from their waist down to their
feet creates a wonderful wave. Standing on an earthen
pitcher with a bottle on the head and a lighted lamp
on it, when the Reang belle dance twisting rhythmically
the lower part of the body, the dance bewilders the
onlookers. The Reangs also use the musical
Instruments like Khamb, Flute made of bamboo and
bamboo cymbal. The Reang women prefer to put on
black Pachra and Rea. Reang women put on coins ring,
which generally covers their entire upper region. They
also put on rings made of coin in their ears. They are
fond of fragrant flowers as ornaments to metal things.
S BISMNRT T BT fawg TRTUT 3= Sl &
T 8 8, AYqR1 & R WHer &1 98 T $U gl 9
HIHT R 5| BT 7 Ig1 I b TRR & S fewd 3
T $ g8 7% Ufaefd 3, Fafd I96! FIR I AR R
T B T TH 31gyd Tex Ual aal 81 RR W T siqa
3R T W TS Sdl g3 S ddx S & 98 R W9
BB, o R ol IRR & =it fe e ol oiog = &
YA B T el 2, 3 T8 T A ATl 1 st
B a1 3| i T, 919 @ o+ aigd ok §ig @t i
SR i arerda &1 ot Sua aRd & | R afgang
HTE TR SR RAT U1 0¥ Pt § | it Afgemy
el B SIS Usl &, S 3TH R W 35 W SHUR
&3 Bl gabdll g1 d 3T BT A g J o7 Bt +ft ug1d
g1 3% 3MYYU & TY & I Ball AR o1 B! ol
4E g
Ques 21. ANS (B) Solution:
The National Flag is a horizontal tricolour of India
saffron (kesaria) at the top, white in the middle and
India green at the bottom in equal proportion. The
ratio of width of the flag to its length is two to three. In
the centre of the white band is a navy-blue wheel with
24 equally spaced spokes which represents the Ashoka

Chakra. The design of the National Flag was adopted
by the Constituent Assembly of India in July 1947.
TP < WRA BT T &l o & o 9ed SR
Haar @afean, §19 3 gie iR ged e YRd 31831
T UM U H g1 S DI ANSTg IR S| TalTs BT
3UId &1 ¥ 19 81 e Ut & g W U Adl- I 8
o 24 T g3 areht Aol § S e % o
yfaffE X ¢ I oS BT fSTrs Jars 1947 H
HIRA ST AU IHT GRT SO 7 4T

Ques 22. ANS (B) Solution:

Certiorari is a writ which means "to be certified".

It can be issued by the Supreme Court or the High
Court to quash an order already passed by a lower
court.

It could also be used by the Supreme Court to transfer
a particular matter to it or some other superior judicial
authority for consideration.

TfESRRY tas e & ot ord € »vmnfrd fasar s |
34 frelt 3raTeid §RT Ugd & UTRd 3M1ee I g oA &
o ot =araTerd a1 S <qraTed §RT SR fasaT Sl
qHT 5|

SUPT SUUNT Hdfe raTed g1 fobt faRy ATt bl
310 Ur 1 foblt 31 ARy =aTfies Uftieb Ry i feremred
RFTART B & forg W fosar o g 3|

Ques 23. ANS (D) Solution:

Since February 2009, Supreme Court of India has total
sanctioned strength 31 judges including the Chief
Justice. The original constitution had fixed sanctioned
strength of the court at 8 and left the matter to
parliament to increase the number of judges as needed
by making a law. The number was increased to 11 in
1960, 14 in 1968, 18 in 1978, 26 in 1986 and 31 in
20009.

Ques 24. ANS (B) Solution:

FE TS, SRS B WSS WA & Fare
fer, T8 ¥0 ¥ He1g dF &1 R & forg Ser
g1 918 @ FYfda WeR grR1 URd Red 9 siffaam,
1934 % UIGYH! & T80 I STl | ars | 15 I G,
forT @ utar ST AgR® SR 10 TR-ofYHRG
= B 1 SRETSME TR aI8 & T HRIGRI § |
FHER: $g THR A 11 SR, 2022 Y IR HIel B
3fafd & fore Teft=r BTy WR1S 3R WY Tdfed
B RIS P b ds | RBIITD, R-SMABRS
o= & T H e 9 i foan B

The central board, the apex body in the RBI's
organisational structure, is primarily responsible for the
oversight of the central bank. The board is appointed
by the government under the provisions of the Reserve
Bank of India Act, 1934. The board has 15 seats, of
which five are official directors and 10 are non-official
directors. RBI governor is the chief executive of the
board. News: Central Government has re-nominated
Satish Kashinath Marathe and Swaminathan
Gurumurthy as part-time, non-official Directors on the
Central Board of RBI for a further period of four years
with effect from August 11, 2022.

Ques 25. ANS (C) Solution:




Arma Konda or Sitamma Konda, is a mountain peak in
the northern part of the Eastern Ghats and located in
Godavari River basin. It is located in the Madugula
Konda sub-range north of Paderu village in Andhra
Pradesh, India.
SRAT HIST AT VAT BT, Tal °Te & ST YT H T
udd RRER 8 3IR Maradt 7d) 3f # Ry 81 98 WRd &
%ﬁ_j{%ﬁwﬁ JS% TMid & IR H Agall Hisl 3U-907 §

I

Ques 26. ANS (B) Solution:

TSH 7Y T Wiiey SRt 3R arife 31 35
Yuflare & oFe & =g & Hft ST o1 g

"I SHIRT 3¢ & AR TS Ploldl 3B & d™ 3
SwIEH B B

Adam smith was a Scottish economist and philosopher.
He is also known as the father of Capitalism.

"An Inquiry into the Nature and Causes of the Wealth
of Nations" and "The Theory of Moral Sentiments" are
some of his notable works.

Ques 27. ANS (B) Solution:

1 IUMYE U dfedh Thd UTe © o urufies o1 g
Jufvel 7 ¥ U & FU | ariferd far T § St grae
F TATHR STRIVH P i T & 3feR SfafHed &

d< - JYH IuMAYE

#1dg - TRg

HHAE - BRI, BT

Tode - BT, ARG 3R YaryeR, Famaoht

3d - AIgHT 3R S, Uy IUfvg

The Kena Upanishad is a Vedic Sanskrit text classified
as one of the primary or Mukhya Upanishads that is
embedded inside the last section of the Talavakara
Brahmanam of the Samaveda.

Veda - Principal Upanishad

Rig Veda - Aitareya

Sama Veda - Chandogya, Kena

Yajur Veda - Katha, Taittiriya and Svetasvatara,
Maitrayani

Atharva - Mandukya and Mundaka, Prashna Upanishad
Ques 28. ANS (A) Solution:

YR BT A 3 S 3 FelTelTe & oY SRR TR
U 2023 P BIgd H R ufdggl ufbdm w 2-1 9
HE Sitd gol Bt 3R 3T RIS HT I adrgdes sard
fea

The Indian hockey team eked out a close 2-1 win over
arch-rivals Pakistan in the final of the Men's Junior Asia
Cup 2023 in Salalah, Oman to successfully defend its
title.

Ques 29. ANS (A) Solution:

WBRT MBS & AR, HFHR TSI 3R WA,
i, 3Hfel 3R WAl § HH YdTg & HRUT d-5
2023-24 % GRM HRA § ycel fag=h Fag @wSiens)
34 Uf=Td geeh 10.94 faferam STer 81 | fomrgt &
SRTT wfgd UgE G2 § THhSIas 3fehd] Uarg & et
3T | S-S 2022-23 & SR THSISHTS YaTg 16.58

fafera STeR 811 Twhetans fohe fagef a7 fasdt
3 3 & AR, U U1 R gRI S8 T8
RS # W@ TR ¢ | Thalefs Hav® 3
IR R e bufar & e ot Rl aa g

Foreign direct investment (FDI) into India declined 34
percent to $10.94 billion during April-June 2023-24,
dragged by lower inflows in computer hardware and
software, telecom, auto, and pharma, according to
government data. During the quarter, FDI equity
inflows decreased from major countries including
Singapore, Mauritius, the US, UK, and UAE. FDI inflows
stood at $16.58 billion during April-June 2022-23. FDI
is an ownership stake in a foreign company or project
made by an investor, company, or government from
another country. FDI investors typically take controlling
positions in domestic firms.

Ques 30. ANS (D) Solution:

HTe Jeoi- H Heldl B AR 2045 T I Y BT
IS BIRTA B & foTq eTeT Tiet A S+l & THTHTH
TG & 1Y UH THI R geR vy YR Wa
U@ = S U & 1Y T U7 dh-1h IR g
B P o0 9 IR R gIER fbU § o et s
@1 UfehdT & TR BT SO B 50 UfaRTd o if® &1
FHerdt PR abdl ¢ | T LIl A 31 Hgl [ 39 i H1
TIY &0 SR B & Sarg U J Hla-
STS3IRITES Ioo Bl 50% I Hfeb FHH HAT 5|

Tata Steel inks deal to cut carbon emissions with
Germany's SMS group In a bid to cut carbon emission
and achieve net zero carbon emission by 2045, Tata
Steel signed an agreement with SMS Group. Indian
steel major has signed this deal with the German
company to collaborate on a technology that may cut
carbon emission by more than 50 per cent during steel
making process. Tata Steel went on to add that major
goal of this deal is to reduce carbon dioxide emissions
by more than 50% from the blast furnace's baseline
operation

Ques 31. ANS (C) Solution:

S & ggd H SIRig I BeA R fay
HY H YR 6 WU, 6 ToTd 3R 3 B Y Ifed 15
el & a1y =i R g

India finished on top at the International Shooting
Sport Federation Junior World Cup in Suhl, Germany,
with 15 medals including 6 gold, 6 silver and 3 bronze
medals.

Ques 32. ANS (D) Solution:

T A T RIS TITEE T AT| SaHfd T 31 1
SifTH M UT| I g1 390 HAl IRIGd HUG - B
CRIN

Pushyamitra Shunga was the founder of the Shunga
Dynasty. Devbhuti was the last ruler of the Shunga
Dynasty. He was assassinated by his minister Vasudeva
Kanva.

Ques 33. ANS (D) Solution:

HRA TRPR gRT qY 2021 F 3ATS 5 af o fow 4047
RIS TUY Ft ANTd F ST 31 fFe df=r far mam g1




oM B 6 10 & Fr & =aRol & di- fban T g1 g1
&8 7 oot #§ RO HHEA &1 96 gs ¢, JareH
ify & sreger gedt fagm s w0 B
Deep ocean mission has been launched by the
government of India in the year 2021 with a cost of Rs
4047 Crores for the next 5 years. The mission has been
launched in two phases with 6 themes. Recently, the
meeting of the staying committee has taken place in
New Delhi. The Chairman of the steering committee is
the Minister of State for Earth Science.
Ques 34. ANS (C) Solution:
India's economy grew at its fastest pace in a year in the
April-June quarter, showed the National Statistical Data
(NSO). India's gross domestic product (GDP) grew 7.8%
in the past quarter, up from 6.1% growth in the
previous quarter and 13.1% in April-June 2022. Reserve
Bank of India (RBI) had predicted a growth rate of 8%.
India remains the fastest-growing major economy as
China's GDP growth in the April-June quarter was 6.3%.
As per the NSO data, the agriculture sector recorded a
3.5% growth, up from 2.4% in the April-June quarter of
2022-23.
However, the growth in the manufacturing sector
decelerated to 4.7% in the first quarter of the current
fiscal compared to 6.1% in the year-ago period.
The growth in GDP during the January-March quarter
of 2022-23 was 6.1% and 4.5% in October-December.
Private consumption, which accounts for nearly 60% of
the economy, grew about 6% year on year, up from
2.8% in the previous quarter.
However, growth in capital formation, an indicator of
investment, eased to about 8% year on year from 8.9%
in the previous three months.
Services sector growth was helped by brisk activity in
financial services, trade, hotels and transport sectors.
ST wifers! SeT (@ s) 3 udl 9e § fo Siid-om
forTgt # URA BT srdoawyT U urel # 9ad ot 1 o
S| Ued famel ¥ YRA &1 Jod 9¥q IdTE (STterdt)
7.8% dgl, S fasah fommdt o 6.1% iR 3Mia-5 2022 H
13.1% 4T YRdTF ReTd & (RBI) 7 8% PI [IHT &= B
Hiqsgaruft i & |
R Ta ol F Fct T srfeaw s1 gan § Fifes
Ao forrg) & i @) S gf 6.3% 2
TIUY3 & 3Mhs! b AR, BN &7 T 3.5% B gfG oot
DI T, S 2022-23 B WA-SF fadTE 7 2.4% ot
geiiicp, =Tl foret af 1 ugell fawre! # fafmiuor &= &t
3 TCHR 4.7% I8 TS, & Th A1 Ugdl Bi 3Hafdy o
g 6.1% i
2022-23 BT SHas1-A gl & SR S § gf
6.1% 3R SfFCaR-eHR T 4.5% g |
f7oit Gud, St SRITaRIT BT TIHT 60% T &, TIel &
T U 6% Fat, ol TUzal foums! 7 2.8% ot
graites, Geit o 7 gfg, St a1 31 T Hoha s,
gﬁgﬁqnﬁﬁ 8.9% Y UCHR AT & AT THIHT 8%
I
faiiy Sarefl, MUR, glee SR uRae & & dul
Tffafy & Tar & B gfs H Hag el

Ques 35. ANS (B) Solution:

Vitamin A, or retinol, is an essential nutrient for vision.
It makes up a protein that absorbs light in the retina
and supports eye functioning. Vitamin A deficiency
leads to night blindness.

faeTfm T, a1 ¥feHid, ¥ & e U sads uivs dod
¢ | I8 TP UICH ST & S ST | UhT=1 BT Sa=niyd
AT § 3R S P HIHBS | FgTIdl Il ¢ | faerie
T 3T HH ¥ el A7 B A B

Ques 36. ANS (A) Solution:

Jalan Kalrock Consortium, the successful bidder for
financially challenged Jet Airways, has deposited Rs
100 crore into the airline. This action follows the
National Company Law Appellate Tribunal's (NCLAT)
directive permitting the execution of the revival
strategy. With this recent contribution, JKC's total
investment in Jet Airways has reached Rs 250 crore.
31 ¥ ¥ YU Sic TSl & 1T Jhd sl
ST aTel ST HIeRIdb HaAfcad 7 TaRaAs H 100
BUS FUY O U § 1 I8 BRATE AP B DI
SUTelg RN (TAUAUd) & JoGR UM &
ST BT AT <7 a1 R BT uTed el | 39
BIICrIT ANTGM & 1Y, i TORAS H Siohdil &l $df (Hax
250 FRIS IUY d% Ugd T 5 |

Ques 37. ANS (D) Solution:

Reliance Industries Ltd (RIL) chairman Mukesh Ambani
has been ranked second on Brand Finance's annual
report on the world's top CEOs for the year 2023. The
Brand Guardianship Index 2023 saw the rise of Nvidia
CEO, Jensen Huang, and Mukesh Ambani of Reliance to
1st and 2nd position, respectively.

R SSEIS S (SMRATSTE) b feHe Gobal
ST &I I 2023 & forw g & =i Wsn R sifs
BIEAE B aitier RO § G8RT UM fean man 2| sifs
TISRFRIT SS9 2023 H THASAT & Hig s, SaH
BT 3R Ny & b 3t Uga RIF W R 3R
DHRT: GIRT R |

Ques 38. ANS (A) Solution:

Carnatic vocalist Aruna Sairam will be conferred the
Chevalier de I'Ordre National du Merite, the Knight of
the Order of the Merit, by the French government. '
She has been selected for her singing talent and
contribution to the development of Indo-France
relations. ' Aruna Sairam has received many awards,
including the Padma Shri the Sangeetha Kalanidhi

TaferR S @3 AwHa g Afve, e 31t g 3HiaR i
& ART A G T SITET | "I STebt T UicrHT
3R YRA-W1 Geieh & faeprg & Qe & forg g
S| 30T R Bl Hs DR 7l ¢, o garshh, wia
HAAT REBR Ht 2 |1

Ques 39. ANS (B) Solution:

The warship 'Mahendragiri' built at Mazagon Dock
Shipbuilders Limited has launched in Mumbai. The
warship has been named after a mountain peak in the
Eastern Ghats located in the state of Odisha, is the




seventh ship of the Project 17A frigates. Mahendragiri
is a technologically advanced warship and stands as a
symbol of India's determination to embrace its rich
naval heritage.
HerTa ST Riufaesy fofies # ffia gguia wesfii
Has o @i g1 T 81 59 gguid &1 AT e g &
fq gdf ure &1 te gdq A1t & 1 WR 61 T €, T8
Tioiae 174 fhiley &1 Widal 8T 81 e &Rk Th
TH-B! ©U I I9d GUId & 3R Tg 30+ TS
%ﬁﬁﬁ?ﬁ faRTd &Y 3T & YR & T Yhed T Udidh
I
Ques 40. ANS (B) Solution:
Right to Constitutional Remedy was termed as 'The
Soul of Indian Constitution' by BR Ambedkar it states
that When any of our rights are violated we can seek
remedy through courts.

TP IR &b USR Bl AR SfdgH I YR
AU B ST FET U1, SHH HT T § b 91d AR
foeft H} SR 1 Iceiu Bl § dl BH Sraradl &
Y ¥ ST ge Jhd gl
Ques 41. ANS (B) Solution:
Gujarat is the leading state in Marine fish in the
country. Andhra Pradesh is the leading state in inland
fish production with the highest production of inland
fish.
T Al & A § TORTd <=1 BT S0 I 7| g
R S Hevell e # st I § e
AT HSTH BT IHTGT T AP 5|
Ques 42. ANS (C) Solution:
Article 17 abolishes ‘untouchability’ and forbids its
practice in any form. Protection of Civil Rights Act,
1955 defines civil right as any right accruing to a
person by reason of the abolition of untouchability by
Article 17 of the Constitution. The term ‘untouchability’
has not been defined either in the Constitution or in
the Act.
3T 17 "3RGTAT B! AT BT & 3R ot off =1
H 3P SR RS T & | AR SHUBR &0
YT, 1955 ANRG RGR HI U™ & 3THG 17
GRT 3RYLIAT & I o HRUT (bl fad P U g
aﬁ%ﬁa@w%wﬁuﬁuﬁam%
\SRGIT X 1 A @ WA & R 7 8 sifdfom o
EIRRNISCAERIRICINS
Ques 43. ANS (C) Solution:
David Bornstein specializes in writing about social
innovation. He is the author of The Price of a Dream
and How to Change the World, which has been
published in 20 languages. His articles have appeared
in the Atlantic Monthly, the New York Times, and many
other publications globally. He co-wrote the PBS
documentary "To Our Credit." He is the founder of
Dowser.org, a Web site devoted to uncovering stories
of change. He lives in New York City

%ﬁgaﬁﬁqwmw$aﬁﬁﬁﬂﬁﬁm%?%l
d8  UTSY 3T T g 3R 813 ¢ I & ats & o o,

S 20 YTt H UHTRIA 8% § Wé@&w%ﬁu?ﬁ,

TP TSR 3R 3y TR R F3 3= YA § 34 |

f&ar| 98 Dowser.org & RIS §, St uRad &t
HEI! BT ISR PR P g THftd T 39 I13¢ 5
a8 =gaTd e | @l §
Ques 44. ANS (C) Solution:
Mahatma Gandhi violated the Salt Law imposed by the
British government at Dandi on April 6, 1930, hundreds
of freedom fighters including Gopabandhu Chaudhury
and Acharya Harihar Das began their foot march from
the Swarajya Ashram of Cuttack, Orissa towards
Inchudi against the law. Gandhi was arrested in 1930,
and later released from custody in January 1931 and
began negotiations with Lord Irwin aimed at ending
the satyagraha campaign. This was formalized in the
Gandhi-Irwin Pact that was signed in March, 1931.
HETET e 7 6 370d, 1930 B1 afe & ffex WaR R
T 1Y FHS HIA b1 Ieera ford, sy AR 3R
3frard geR T/ Ifgd Adhe! Wasdl WAl 3 ST &
AT ISHT & FHedh & WRI YT T S| DI 3R
Oea AT Y= forar| et &Y 1930 & ARTAR &R ferar
T SIR 916 H SHad 1931 H fevrad § Ret o= fear m
3R I dls AT & I FATTG AT P GATG
TR & 36T FIa9id Y B 39 A, 1931 H
gEaRd Tidt-sRfa g # siuaie &y fean man
Tl
Ques 45. ANS (A) Solution:
International Chess Day was announced in 1996 by
UNESCO to commemorate the establishment of the
International Chess Federation, commonly known as
FIDE by its French acronym. FIDE was founded in Paris,
France, and currently has its headquarters in
Switzerland. FIDE is an international body responsible
for connecting various international chess federations
and acts as the governing body for international chess
competitions. FIDE was recognised by the International
Olympic Committee in 1999. Every year, International
Chess Day is celebrated on July 20.

(ARl fGa¥ &1 °IvuT 1996 H %! gRI

YOS HETHY & RITYAT & IJuaed § B s o,
mmwmmr—r@mw FIDE & &0 &
ST ST 81 FIDE St IO O, Wi & g8 ot 3R
oA & 3ue! geiad Raeeras # 81 FIDE U
gfaaifirarstt & fog it e & w0 § &1 ol g
FIDE &1 1999 & 3 3ficifep Jfefa gRT Agar &t
TS 21 BRI 20 TS DI RIS Trave faas wam
ST B
Ques 46. ANS (D) Solution:
Indian Team Secured 2 Gold at the 64th International
Mathematical Olympiad (IMO) 2023 held in Chiba,
Japan. It also secured 2 Silver and 2 Bronze medals and
finished 9th out of 112 countries.

YR EF 3 Su= & e 7 Smaford 644 3

Tt sieiftaTs (3msuHsi) 2023 # 2 ot g1Rd fHu)
3T 2 I97d 3R 2 B U ot g1fd fpu iR 112 =t
H ¥ 9d RIM W g




Ques 47. ANS (A) Solution: ZCIARMA ST B
(TEETHU) F TR e I WY BeXwH Hh
a1 Erauwarns) F FRRE ok TR Sl
ST (TETHUP) F IUIA TpR ol 1 o a1l &
FHrIeTa & T 3ot Tewgdr afifa & fow g1 @,
YA STICH HERM $I RITAAT 2008 H B T o,
TP I5]T S B! F1a1 &1 6. The General Body

of the International Esports Federation (IESF) has
elected Lokesh Suiji, Director of the Esports Federation
of India (ESFI) and Vice President of the Asian Esports
Federation (AESF) to its Membership Committee for a
three-year term. The International Esports Federation
was established in 2008, its objective is to promote
esports.
Ques 48. ANS (B) Solution: USTTH 7 30T T HIS
S SHIa HIohe B A R el 3. 39 WISSaa & 9y
THER Sfae, HiSe HIS F Ht YaH U & o,
T F TS U W%Wmﬂlﬁéﬂm
HREIBTS, ARET ToIUY 3R U Acash R Hiesd
3R FTE I UHT U R Tdhd &, o 3¢ SO IR
EIE;'Ief o 3t Eﬁ"'ﬁ Paytm Card SoundBox & \_rlﬁ'q
IHTER TP TR 5000 FYY I &1 HTs UHE o Thd &,
S o5 I8 11 SreT-3renT UreTaft H e ST &, Paytm
has launched its latest card Soundbox in the market.
With this Soundbox, shopkeepers will also be able to
receive payment through debit and credit cards.
Through Paytm's Tap and Pay option, merchants can
receive mobile and card payments on all Visa,
MasterCard, American Express and RuPay networks,
which will make it easier for them to grow their
business. Shopkeepers can make one-time card
payment up to Rs 5000 through Paytm Card SoundBox,
which gives them alerts in 11 different languages.
Ques 49. ANS (C) Solution: geRTaTE fUd TH
B @ Sl 3 Al GaTfed T Sy~ Tel-gH
YU &1 3FHTERUT T § for S5 (Indrajaal) 910
foa a1 B, ug Red 7 Haa A ufagHl, de a5 S8
TS &1 & IR Gobd 8, Sfedp fopadt off TR
& SH I R e B Ui T80T HR Thdl 8. G B 4,000
Tl fraicx & &3 ¥ 9l YR & S99 5919 & forg
%\_,:l'ls_fi fopar T/ % A Hyderabad-based robotics firm
(Graene Robotics) has unveiled a state-of-the-art Al-
powered anti-drone system named Indrajaal. This
system can not only protect important installations like
nuclear installations, oil fields, but can also protect
entire cities from any type of drone. Indrajal is
designed to defend against all types of drones in an
area of 4,000 square kilometers.
Ques 50. ANS (D) Solution: SH-HRHR o AcTATA
TS Rieg1 A oe fayfasrer & 549 RO 3y R g
MR U= H 37U IRE & Ugd eI ASal Bl
IqureH fohal. I8 Ugd fazafdemerd & faft= fedurel
¥ ARt & offtrefad 3 3R AN 31 39 & THHa
fdera o yriieRt & forg URa == &1 arerm ah | oeg,
fazafaenaa & gaufd 381 I A g & fazafagreay
ST TANT GRT g MR U 7 e e Hfa
2020 ARLHRA & o Ared faxafaeead & wu o

T ol ST & SR Y SrpTaiie & B S gl
HTIH B B Hag fAel 81 Jammu and Kashmir
Governor Manoj Sinha inaugurated the first of its kind
community radio in the Union Territory on the 54th
Foundation Day of Jammu University. This initiative will
serve as a medium to express the views of various
stakeholders of the University and inspire people to
participate in the integrated development of the
country. Jammu University Vice Chancellor Umesh Rai
said that being nominated by the University Grants
Commission as the nodal university for implementing
the National Education Policy 2020 in the Union
Territory has helped the institution maintain a high
status in the academic field.

Ques 51. ANS (B) Solution:

15 = 2008 = AR

15 fge=T 2008 | 15 fya=t 2009 7% = 138
- [ Rt i g@r =1

- 15 =R 2008 # A = R + | = afEr
ara: 15 Ryt 2009 & &R 9n

Ques 52. ANS (C) Solution:

A=1B=2, ..,Z=26.
So,LIFE=L+1+F+E=12+9+ 6 + 5= 32.
Ques 53. ANS (D) Solution:

u N | T E D D | 5 0O W N
-'z‘.| -Z{l —rJ‘ -EJ‘ -'.l -2‘ —?.‘ -L’.l -2 -L!l -Zl -'.’.J‘

v w - -

5 L G R C B B G g M U L

Ques 54. ANS (D) Solution:
FG & BIgax o Ol I9g & 81&R quiTen & famia
%ﬁqﬁw%,x—ﬂ% FG | 3feR quidTar 8 & SN
I
Except FG, in all other groups the letters are sequential
in reverse alphabetical order, whereas in FG the letters
are sequential in alphabetical order.
Ques 55. ANS (D) Solution:
(48 - 34) DI BISHR 37 Tt Ta3ff BT 3R 13 B
Except (48 - 34), the difference of all other numbers is
13. Foundation — Walls — Windows — Roof — Floor
— Room
Ques 56. ANS (A) Solution:
T
A -——E
@ <
EG}——'@D
O G W ¥ B D oarr A Y
Ques 57. ANS (B) Solution:
& T THBRU A a b, ¢ TUT d & VI W KT ol
DI W@ W,

By substituting mathematical symbols in place of a, b, c
and d in the given equation,

8x14+6—16 =4

=18 x 14 +6 — 4

=252+ 6 -4 =254
Ques 58. ANS (D) Solution:




mﬁqﬁ%—
é”gm 127 255

132 +64 +128

+4 +8 +16
78t rgTa e 126
anth
Ques 59. ANS (B) Solution:

3 @[ W g e 127

Fr s, 6+(6)=42, 42+(5)=¢1
a4t I, 67+(4)*=83
AT 2= 83
Ques 60. ANS (C) Solution:
13|2nwulrosa:2|u|5|o|71010202|222:u2520
MLKJlHGFEDCBANOPﬁRSTUVWXYZ
T i 1; =g a0
mzﬁmalome%W'Q%m{
{ 79 R D' B

A T e = D

Ques 61. ANS (A) Solution:

R A ME S H
181 13 5 19 8
(YRY } FAilHs °9H)

1 Z N V H S
181 13 5 19 8
(3 } wwilFs AM)

IH TFR,

A N 1 L
1 14 9 12

(WY | HHTHF °H)

Z M R 0
1 14 9 12
(¥Ha q wHTHS ¥F)

31:, ANIL = ZMRO feran smam,

Ques 62. ANS (D) Solution:
R».-R;.-k'.= 1R -

a,
W,
moo“_,,\
€— ‘lB
lcxfm
vt faem ‘zfgor’ @ m

Ques 63. ANS (D) Solution:
S

HERNS;

2 4 6 3 5

NARRE

Ques 64. ANS (D) Solution:

J¥IIER,

a1 1% 30 arfre = sfEr

30 -7 =23 9@ = 9@

23 - 7= 16 a{@ = gf{ER

16 -7 =9 arft@ = @R

9-7=2d@ = Aar

- | @ = 9FER - | = $RR
Ques 65. ANS (A) Solution:
o IR Bd ‘Fell ' F F9d1 |, 3T SR Wem ‘oS
I
Just as a flower is formed from a 'bud’, similarly a plant
is formed from a 'seed".
Ques 66. ANS (B) Solution:
81 P! Bred o Tuft I=md 17+ ¥ 1 - fauiora &)
STt § S 81,7 ¥ fauiiord =1et g B
Except 81, all other numbers are completely divisible
by '7', whereas '81" is not divisible by 7.
Ques 67. ANS (B) Solution:
et AR — e — HAY — D
Word — Sentence — Paragraph — Chapter — Book
Ques 68. ANS (D) Solution:

7
71
e O T

o ot & T B 78 gov AR R
(]

Ques 69. ANS (B) Solution:

7
(i) = -’@ ‘hﬁ
'

“i“i@%mgx%%'mmmgl

Ques 70. ANS (A) Solution:

23 456 8 9101 121314151
ABCDEFGHIJKLMN“OF?(‘J”R“S“‘]? s 2554 “z'3
- B S T

A
® 128

“ﬁmmﬁma lzaram'u%am
I L'D T ST 8 a4 R T ura A By
A I SR =T

Ques 71. ANS (C) Solution:

ﬁﬂ{mmﬁﬂaﬂt-
104 105 108 113 120 129 140
LN

+1  +3  +5 +7 +9 +11
78T SreT Hear 119 % ' W T @ 120
gl
Ques 72. ANS (D) Solution:

§x%0.5+0.5=3, 3x1+1=4,

s 4x1.5+1.5=7.5,7.5%2+2=17
17x2.5+2.5=45,
45x3+3=138

& TR, 138x3.5+3.5=486.5

aE = 486.5

Ques 73. ANS (B) Solution:




ara
W=

gd U 9HR & A ¥ T R qEnvs & UE AEGEAE
aa ¥ | gl g4 @ ara & arrla q9r arl B FEws &
geta amiRaa fear mar &

Ques 74. ANS (C) Solution:

ot weh
Ap—e—Bre>—F

.-\__‘\ * ot

""'\-..,,,,,,_,,,fVE o
HA: E, A & wtsl )
Ques 75. ANS (C) Solution:

abcedd/cba/abedd/cba

Ques 76. ANS (D) Solution:

Cl = 24576 * [(1 + 6.25/100)? - 1]

=> Cl = 24576 * [(1 + 1/16)2 - 1]

=> Cl = 24576 * (289 - 256)/256

=> Cl = 24576 * 33/256

=> Cl = Rs. 3168

Ques 77. ANS (C) Solution:

110f 7.5 = [12.5 + 35x7-{16 - 111 = (17 + 20)}] +
0.125 = 2k

82.5 + [(25/7) x 7 - {16 - 111 + 37}] + 0.125 = 2k
82.5 + [25-{16 - 3}] + 0.125 = 2k

82.5 + [25 - 13] + 0.125 = 2k

825+ 12 +0.125 = 2k

6.875 + 0.125 = 2k

7 =2k

k=35

Ques 78. ANS (D) Solution:

Area of square = 400 sg. cm

Side of square = V400 = 20 cm

Perimeter of the square = 20 * 4 = 80 cm

Let, the length of rectangle be L cm.

Perimeter of rectangle = 80 cm

2*(L+12)=80

L+ 12 =40

L=28cm

Area of rectangle = L* W = 28 * 12 = 336 sq. cm
T &1 8B = 400 G JHt

I BT ST = V400 = 20 Tt

I BT URATT = 20 * 4 = 80 T

T, 31T 3} e L9 B

3T T URAT = 80 It

2% (L+12) =80

L+12=40

L = 28 9l

3T BT &ABE = L * W = 28 * 12 = 336 G JHT
Ques 79. ANS (B) Solution:

Amount = Rs.29865

Principal + simple interest = 29865

100 * simple interest/ (rate * time) + simple interest =
29865

100 * simple interest/ (8 * 4) + simple interest = 29865
132 * simple interest/32 = 29865

Simple interest = 29865 * 8/33 = 905 * 8 = Rs.7240
IHH = 29865 I

Y + HTYRUT TS = 29865

100 * HIYRUT AT/ (qX * JHY) + YR YISl = 29865
100 * gIYRUT TS/ (8 * 4) + HIYRU ISl = 29865
132 * HIYRUI AIl/32 = 29865

HTYRUT TS = 29865 * 8/33 = 905 * 8 = 7240 ST
Ques 80. ANS (C) Solution:

Let CP be Rs. 100x per litres.

Total CP = Rs. 8 * 100x = Rs. 800x

SP of first 3 litres of coconut oil = Rs. 3 * 110x = Rs.
330x

SP of next 3 litres of coconut oil = Rs. 3 * 100x = Rs.
300x

SP of 2 litres of coconut oil = Rs. 2 * 95x = Rs. 190x
Total SP = 330x + 300x + 190x = Rs. 820x

Profit = 820 - 800 = Rs. 20x

Profit percentage = (20x/800x) * 100 = 2.5%

A e cp U g1 100x Wfd ditex|

P CP =.8* 100x = 2. 800x

YT 3 Tlex ARIA dd TSP = 3. 3 * 110x = 3. 330x
3TS 3 Wler AR dd &1 SP= % 3 * 100x = J. 300x
2 AR AINRAA A BT SP = 3. 2 * 95x = J. 190x
P SP = 330x + 300x + 190x = . 820x

Y = 820 - 800 = 2. 20x

1Y Ufd=Id = (20%/800x) * 100 = 2.5%

Ques 81. ANS (A) Solution:

Sum of weight of A, B, and C = 52 * 3 = 156 kg
A+B+C=156.. (1)

Sum of weight of Band C = 44 * 2 = 88 kg
B+C=88..()

Sum of weight of Aand C = 46 * 2 = 92 kg
A+C=92..(03)

Adding (2) and (3),

A+B+2C=180... (4)

Subtracting (1) from (4),

C=24kg

A, B, 3R C & ol &1 a1 = 52 * 3 = 156 fHammy
A+B+C=156.. (1)

B 3R C & ao BT UNT = 44 * 2 = 88 fur
B+C=88..()

A 3R C P IO BTN = 46 * 2 = 92 fHam
A+C=92.(03)

(2) 3R (3) AR,

A+B+2C=180..(4)

@HT (1) IR W,

C = 24fHm

Ques 82. ANS (A) Solution:

Let, T =100

Then, S = 120

And U = 100 * 100/90 = 1000/9

Now,

S:U =120/ (1000/9)

= 1080/1000

=27:25

HMHETL T =100

dd,S =120




3R U = 100 * 100/90 = 1000/9

3l

S: U =120/ (1000/9)

= 1080/1000

=27:25

Ques 83. ANS (B) Solution:

Time taken by B alone to complete the work = 30 *
100/75 = 40 days

Time taken by C alone to complete the work = 40 * 34
= 30 days [as 33(1/3) % = 1/3]

Number of days taken by all three together to
complete the work = 1/ [(1/30) + (1/40) + (1/30)]
=1/[11/120]

= 120/11 days

B GRT 3fdhal 1A IRT = | fordm 711 98 = 30 *
100/75 = 40 f&A

C GRT 3fohdl BT QT & B o a1 90 = 40 * %4 =
30 & [@ifp 33(1/3) % = 1/3]

A g1 firae) & 1 v o @) At bt e = 1/
[(1/30) + (1/40) + (1/30)]

=1/[11/120]

= 120/11 f&=1

Ques 84. ANS (A) Solution:

Given number = 3A65B

Sum of digits at even places = A + 5

Sum of digits at odd places =9 + B

Difference =9 +B-A-5=B-A+4

Now, to be the divisible by 11, the value of B - A should
be 7.

Therefore, B-A =7

&} TS =T = 3A65B

TARM R B HTAT=A + 5

favH R R Sipf HTaT =9 + B
dR=9+B-A-5=B-A+4

3, 11 ¥ f[aursa 81 & AT, B - A &1 AMF 7 BT A1
39fele, B-A=7

Ques 85. ANS (A) Solution:

Ques 86. ANS (A) Solution:

et the initial monthly income = Rs. a

Then, initial monthly expenditure = 40% of a = Rs. 0.4a
Initial monthly savings = a - 0.4a = Rs. 0.6a

New monthly income = (100 + 15)% of a = Rs. 1.15a
New monthly expenditure = (100 - 22)% of 0.4a = Rs.
0.312a

Then, new monthly savings = 1.15a - 0.312a = Rs.
0.838a

Therefore, percentage increase in savings = (0.838a -
0.6a)/(0.6a) * 100 = 40% (approx.)

AU URIYD A1RYD 3 = 3. a

iR, URfY® ATRIS TG = a B140% = 3. 0.4a

SRIY% ATRI® §9d = a - 0.4a = 3. 0.6a

T3 AR 3T = (100 + 15)% = %. 1.15a

41 91flds Y = (100 - 22) 0.4a H1% = 3. 0.312a
fOR, 2 TRy &9 = 1.15a - 0.312a = %. 0.838a
gafery, s9d ¥ Ufa<id gfg = (0.838T - 0.6T)/(0.6T) * 100
= 40% (CITTHIT)

Ques 87. ANS (A) Solution:

Let the cost price of the article be ¥100Y.

Initial selling price = (100-8)Y = 92Y

Final selling price = 92Y + 36

112Y = 92Y + 36

20Y = 36

Y=18

So, Cost price of the article = 100 x 1.8 = 180

AT %] &1 % G4 2100V B

RS fIhd T = (100-8)Y = 92Y

sifay fasa ged = 92v + 36

112y = 92y + 36

20Y = 36

y=138

dl, 9% 1 3 Jed = 100 x 1.8 = T180

Ques 88. ANS (C) Solution:

Cost price of cap be R Y

0.15Y = 27

Y = Rs.180

Increased price of cap = 180 + 27 = % 207

AN HT AT A Y 8

0.15Y = 27

Y = 180 30

U DI TG g2 DI = 180 + 27 = % 207

Ques 89. ANS (D) Solution:

Speed of the motorboat in still water = 1.8/(12/60) = 9
km/h

Let x km/h be the speed of the stream.

According to the question,

5.25/(9-x) + 5.25/9 + x) = 1.2

=>x = 1.5 km/h

So, downstream speed of the motorboat =9 + 1.5 =
10.5 km/h

Hence, required time = 25.2/10.5 = 2.4 hours

i AT H HICIEIE B T = 1.8/(12/60) = 9 Tl Eer
AT 4R 1 7If x foel/der g1

Y & IR,

525/(9 -x) + 5.25/(9 + x) = 1.2

=>x=15 ﬁ'ﬂ:ﬁ/‘aﬂ

I, HIeRdIC 1 4RI b 3Ha Td = 9 + 1.5 = 10.5
fepel/eier

3{ck:, STTLID JHY = 25.2/10.5 = 2.4 °¢

Ques 90. ANS (A) Solution:

(b-¢c)?=230—-b?+ - 2bc =230

a(@a + 2b - 2c) = 220 — a2 + 2ab - 2ac = 220
(@a+b-c?=a%+b?+c®+2ab-2bc-2ca
(@+b-c)?=230+ 220 =450

@+b-c)=15V2

Ques 91. ANS (C) Solution:

51 SAfRHT WTsel 3R adaw faSier sfforfdT Ren |
IUEd 8d ¥ g, 98 WY TRPIR W HINg el 8
fher @, I T 3R US¥ IR TRGIR TR U S a1t
A U & |

The My Documents folder is a user-specific directory
where personal files and documents are stored in the
Windows operating system. However, it does not exist
directly on the taskbar. The Quick Launch, Start Menu,




and Address bar are common components found on
the taskbar.
Ques 92. ANS (C) Solution:

9 <fif7d te e <fifa gtar § o sareraR R
T S AR 3R Us Blale (3R S TH A
) BT 21 35H BIS 3fidRke cPU @ea WRART gfie)
e 8, 9k TU VSR SUH 95 HH U1 HIS TG Wi
T el
A dumb terminal is a computer terminal that consists
mostly of just a display monitor and a keyboard (and
perhaps a mouse as well). It has no internal CPU
(central processing unit), and thus has little or no
processing power.
Ques 93. ANS (D) Solution:
UNIVAC UgdT ITHIRI Yo Saaei-eg HeR g
UNIVAC is the first general purpose electronic
computer.
Ques 94. ANS (A) Solution:
TS o9 Us HCR §9 3ffdheamr § foresT S
JUBRUN & ofd ST Pl RIFIART B & for foban S
& ford +liftes AT (ife U & S8R Ud g
UG ST &, Ford AHRT €RS dob Ugaq & fog ser
Y B G&H B & g Irg31 HB1eh & U H YUl
foan SraT 3
An address bus is a computer bus architecture used to
transfer data between devices that are identified by the
hardware address of the physical memory (the physical
address), which is stored in the form of binary numbers
to enable the data bus to access memory storage.
Ques 95. ANS (C) Solution:
Sl e | STy &1 g1t Breell &1 gl Udd
HRd | RIS &1 T 3R TS Bics & A1 3R
TR A 81 5|
A data dictionary contains a list of all files in the
database, the number of records in each file, and the
names and types of each field.
Ques 96. ANS (D) Solution:
DOS H, STHAR R IUART fHT 9 aTel Isd TaeRH
EXE, BAT 3fR COM & EXE TRICI &1 JUANT FsTg1
g rga & forg faa o &, o #=iiF s few
31 §1 BAT WIS HHIS 1 U e arelt f&py wiget
BIdt 8, Saieh COM Braal # fRfe Rien & fog
fafdry fd=r 81 81 & w2t Dos H wed TaieeH 7
In DOS, the file extensions commonly used are EXE,
BAT, and COM. The EXE extension is used for
executable files, containing machine code instructions.
BAT files are script files with a series of commands,
while COM files contain specific instructions for the
operating system. All of these are file extension(s) in
DOS.
Ques 97. ANS (B) Solution:
B3 Y T STl WREUT 3R gUiL & I 4 Sel
D 3D Jd Ad I gk Tded dd Ufafaid 9 &1
ma% I ST 71 a1 Rieed fawerar & wra
ST JuTTsHl YA HRA & fere Brgdl,
GeATgel a1 GAISH BT THd BT AMAA 6| TH3M
W,quﬁw%waﬁﬁ@%aﬁwm

forar S g 8, PR Set g1 & faars [Ren &1
Sifafted wRd fiyerdt g1

Backup refers to the process of creating a copy of data
from its original source to another destination for the
purpose of data preservation and recovery. It involves
duplicating important files, documents, or information
to ensure their availability in case of data loss or
system failure. By creating backups, data can be
restored from the backup copy when needed,
providing an extra layer of protection against data loss.
Ques 98. ANS (B) Solution:
Yo AERT 98 BERY § O T80 RS & =0 § Aigg
Ui GBI &, BTliich SHMT SHIBI U Yhs<! Tikel H
W T ST GRT A BIel &, &1 o e RIFiaRol
ARG ATIIR Tferd ©U  far S |
Virtual Memory is the memory that appears to exist as
main storage although most of it is supported by data
held in secondary storage, transfer between the two
being made automatically as required.
Ques 99. ANS (C) Solution:
AT SIS HRd GHT YUl ThiH T g HRA & g
F11 groll &1 SUTNT {5 ST g1 Hials W F11 gaq
SHTRT I STSOR T W 22 3R Ui T e &
9 et B ST © | 8 STSuR fds! & fawdiRd &
3R TUf T R Fooll IR P AR a7 8, o
T faPHyI-Had SIS 3y firadr 3|
To enter the full screen view while browsing the
internet, the F11 key is used. Pressing F11 on the
keyboard toggles between the normal view and full
screen view in most web browsers. This allows the
browser window to expand and occupy the entire
screen, providing a distraction-free browsing
experience.
Ques 100. ANS (C) Solution:

IR TR YS! TSR 3T AT & 1
3% HER TR YT T BN AT 71 T8 gy
AT &, STHBRI THA BT & T TGS TAfaras ot
R R 3|
Spyware usually finds its way onto your computer
without your knowledge or permission. It runs in the
background, collecting information or monitoring your
activities.
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